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1) TRADE THEORY

OCESE |

Question No. 1/ Question ID 201
Which chain drive provides noiseless and uniform drive?
DI I 9 $139 TR Med SR THHAH I15d UaH HRadl 672
(A) O Toothed chain (Correct Alternative)
(Correct Alternative)
(B) O Triple roller type chain

feud JAeR <Ry oA
(C) O Simplex chain (Chosen Option)
] 9 (Chosen Option)

(D) © Duplex chain

Marks: 2.00

[

Question No. 2 / Question ID 44
What is the name of the instrument that measures surface quality shown i

for 7 faTU 71U WIg &1 TUTaRIT IO aTel SUSHRUT BT A1 HT 572

N Marks: 2.00
rﬁgure?
(—




(A) O Mechanical surface indicator (Correct Alternative) (Chosen Option)
T Eﬁﬁﬁ? (Correct Alternative) (Chosen Option)
(B) O Electronic surface indicator
gD WY Sfedhex
(C) O Electrical surface indicator
ZafdeHrd WhY SfedHex
(D) O Dial test indicator
W ¢ Sfedher

Question No. 3 / Question ID 83 Marks: 2.00
Which heat treatment process affects the strength, toughness and ductility of steel?
P Il S ITAR UfehaT T DI AT, HARAT 3R TG ! GHIfAd Hell 82
(A) O Hardening (Correct Alternative)
[T (Correct Alternative)
(B) © Annealing (Chosen Option)

(Chosen Option)
(C) O Normalising




(D) O Tempering
i

Question No. 4 / Question ID 281
What is the frequency of oiling symbol shown in the figure?

o H SRIT 1T de TR & Uelleb i R18?

(A) © Daily (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) ©O Monthly

(C) ©O Once in six month
8 AEH A TP R
(D) O Weekly

Marks: 2.00

Question No. 5/ Question ID 313

Why lifting pockets are provided with equipment?
JUHRUN & 1Y AT Uiche 1 e ot oiTd 872
(A) O Position the roller for moving

AR B gd B o fRYfq T dH & ferg
(B) O Place the steel wedge (Chosen Option)

I 99 3@ & fom (Chosen Option)
(C) O Provision for bolt and nut

3R 7T & forg urae™

(D) O Place the crowbar for lifting (Correct Alternative)

I3 & T HIaR &l 3@ & fore (Correct Alternative)

Marks: 2.00

Question No. 6 / Question ID 174

Marks: 2.00




Which metal is extracted from Bauxite ore?
SIRITZE 3R F DI At a1g FAprel et 87
(A) O Brass

(B) O Zinc
ST
(C) O Copper
GIEN
(D) O Aluminium (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 99 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame e @ Rifgd Wi &1 amH R 82




(A) O
(B) O
(€)O

(D) O

Ball

CINKCRS]

Inner race (Chosen Option)

Q:RW (Chosen Option)

Ball separating gauge (Correct Alternative)
aret JWRfET Aw (Correct Alternative)

Outer race

IR ™

Question No. 8 / Question ID 236
Which formula calculates force?
DI T BIHAT § P ITUHT BT 872

(A) O
(B) O
(C)O
(D) O

Pressure + Area
Pressure + Area

Pressure x Area (Correct Alternative)
Pressure x Area (Correct Alternative)

Pressure + Area (Chosen Option)
Pressure + Area (Chosen Option)

Pressure - Area
Pressure - Area

Marks: 2.00

Question No. 9 / Question ID 152
What is the name of the pipe fitting item shown in the figure?

= & gifu 7 Uy fOfeT sngen &1 7 w1 82

(A) O

(B) O

(€) O

Close nipple
fAud dq #
Connector

Long nipple (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Marks: 2.00




(D) O Short nipple
Blel Aud

Question No. 10 / Question ID 141 Marks: 2.00
What is the name of the pipe line symbol shown in the figure?

o A <2iiu 71v ursy A8 Udie &1 719 w87

(A) O Reducer concentric (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(B) O Socket
Hlhe

(C) © Union screwed
RIERERT T

(D) O Plug or cap
T g7 eI

Question No. 11 / Question ID 27 Marks: 2.00
What is the use of riffler's file?
fRTFeR TS d BT SUIRT &1 52
(A) O Silversmith work (Correct Alternative)
RieafQry ord (Correct Alternative)
(B) O Lock repair
GINIRSEEE ]
(C) O Finishing sharp corners (Chosen Option)
gBId Il DI WH HRAT (Chosen Option)

(D) O Mould - making work
Ares - A Sl

Question No. 12 / Question ID 273 Marks: 2.00
What is the name of the lubrication system shown in the figure?

forr o gifs 18 Wg= womett &7 A |2




(A) O Splash system
=T FoTTelt

(B) O Manual screw down system
B3I T 813 RieH

(C) O Wick feed
fae fibs

(D) O Ring oiling (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 243 Marks: 2.00

Which device in pneumatics is used for converting pressure energy of compressed air into mechanical
energy?

@ﬁﬁ%mmﬂnﬁ%mﬁmﬁﬁ%mﬁﬁ%ﬁaﬁ%ﬁ%
WITdl &7
(A) O Pneumatic actuators (Correct Alternative) (Chosen Option)
Qﬁi‘ijﬁ?\' (Correct Alternative) (Chosen Option)
(B) O Filter
flhee

(C) O Regulator

(D) O Cylinder
RycieR

Question No. 14 / Question ID 204 Marks: 2.00
What is the name of the gear shown in the figure?

o o faare 7 R &1 9™ @ g2




(A) O Mitre gear
fore R

(B) O Spur gear (Correct Alternative) (Chosen Option)
R iR (Correct Alternative) (Chosen Option)
(C) O Bevel gear
§ad R

(D) O Hypoid gear
geuEs iR

Question No. 15/ Question ID 30
What is checked using a fillet gauge’?
fOraie ST ST IUGRT HXb TSIl STl 82
A) O Internal radius (Chosen Option)

ES] (Chosen Option)
B) O Gap between mating components

gchl & did BT 3R
(C) O Pitch of the thread

Marks: 2.00




(D) O External corner radius (Correct Alternative)
CARET) (Correct Alternative)

Question No. 16 / Question ID 93 Marks: 2.00
What is the name of the limit gauge shown in the figure?

for 7 g=ifT 7T AT I 7 A 1 72

(A) O Plain ring gauge
ISERTURI

(B) O Progressive plug gauge (Correct Alternative)
T T (Correct Alternative)
(C) © Double ended plug gauge (Chosen Option)
&9d USS W ISl (Chosen Option)
(D) O Taper plug gauge
SR &R IS

Question No. 17 / Question ID 84 Marks: 2.00
What is used to achieve faster rate of cooling in the quenching process?

T ufehan H 2fided &t ao &R U R & fore forgest IuanT fvar Sirar 872
(A) O Air
ag




(B) O Oil
ad

(C) O Brine solution (Correct Alternative) (Chosen Option)
SIS IR (Correct Alternative) (Chosen Option)
(D) O Water

Question No. 18 / Question ID 74 Marks: 2.00
Which heat treatment process improves the machinability and ductility of the material?
DI It IT9 IR Ufrar Tt Bt AR 3R aiiare § GUR SRl 82
(A) O Normalizing (Chosen Option)
I 1T (Chosen Option)

(B) O Annealing (Correct Alternative)

1T (Correct Alternative)
(C) © Hardening

SR

(D) O Tempering
[

Question No. 19 / Question ID 261 Marks: 2.00

What is the name of the part marked as 'X' is shown in double acting cylind

S99 T Reisr g 7 'x § g M1 A | g

1T

ure?




(A) O Cylinder cap

(B) O Piston rod (Correct Alternative) (Chosen Option)
fiea s (Correct Alternative) (Chosen Option)
(C) O Guide ring
LIESAR
(D) O Lock nut
NIEZE

Question No. 20 / Question ID 148 Marks: 2.00
What is the name of the pipe fitting item shown in the figure?

o= # g2t U ursy e sigen o1 A |1 82

(A) O Plug
LSl
(B) O Reducer

(C) O Concentric reducer
afcd RS

(D) O Coupling (Correct Alternative) (Chosen Option)
YA (Correct Alternative) (Chosen Option)

Question No. 21 / Question ID 161 Marks: 2.00
Which type of jig does not have base plate?
for TR % o & 99 wie T gt
(A) O Plate jig (Correct Alternative)
wie forT (Correct Alternative)
(B) O Table jig (Chosen Option)
CNASEH (Chosen Option)
(C) O Sandwich jig
Hsfag fom

(D) O Template jig
cree fomT




Question No. 22 / Question ID 104 Marks: 2.00
What is the name of the bearing shown in the figure?

for 7 feame e feafT &1 A & 52

(A) O Journal bearing
S ST

(B) O Bush bearing

gl
(C) O Split bearing (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(D) O Solid bearing
gifers fagia

Question No. 23 / Question ID 259 Marks: 2.00
What is the name of the valve shown in the figure?

fort & foRame 77U aTed &1 AW T 82




(A) O 4 port 2 position valve .
4 O 2 UISIRH dTed

(B) O 5 port 2 position valve (Correct Alternative) (Chosen Option) gy
5 T 2 TISIIRM aTed (Correct Alternative) (Chosen Option)

(C)O 4port3 iti |
po position valve
4TI 3 GIoie dled -
(D) O 3 port 2 position valve =
3 UI¢ 2 UIoieH dred (— ]
[
Question No. 24 / Question ID 299 Marks: 2.00

Which document used to authorize and instruct the work team to take a production work?

SUTG BT B & oI B &d DI IHd B 3R Fa &7 & e vy axarast H1 IuNT fosar S g7
(A) O Process chart (Chosen Option)
UfehdT d1¢ (Chosen Option)
(B) O Productivity report
RICICEAIRNE|
(C) O Job card (Correct Alternative)
EICKIE] (Correct Alternative)
(D) O Inspection report
fRteror Raré

Question No. 25 / Question ID 230 Marks: 2.00
Which term refers to the wear and tear of gear tooth having surface irregularities?

P T g g 1 AATAdTa] arel IR ¢ & ge-Fe &l Yafiid &l 82
(A) O Rippling
fefafem

(B) O Cold flow
T YdTg
(C) O Crushing (Correct Alternative)
I (Correct Alternative)
(D) O Fatigue breakage (Chosen Option)
Yoh[q ¢l (Chosen Option)




Question No. 26 / Question ID 310 Marks: 2.00
What is the name of the crane shown in the figure?

for 7 faTT 71U % T T8 o1 82

(A) O Travelling crane

~

(B) O Gantry crane (Correct Alternative)
(Correct Alternative)
(C) O Pillarjib crane

(D) O Bracket jib crane (Chosen Option)
ISEEZ (Chosen Option)

Question No. 27 / Question ID 46 Marks: 2.00
Which grade slip gauge is used for precision tool room applications?
OREE o & sryanl & o ford I & e st &1 Ui foar S g2
(A) O Gradelll
Grade I




(B) O Grade 0
Grade 0

(C) O Grade 00
Grade 00

(D) O Grade | (Correct Alternative) (Chosen Option)
Grade | (Correct Alternative) (Chosen Option)

Question No. 28 / Question ID 112 Marks: 2.00
What is the name of the bearing shown in the figure?

ferr & feame e foafar &1 = o 82

(A) O Angular contact bearing
U JARIT

(B) O Needle bearing (Chosen Option)
(Chosen Option)
(C) O Roller bearing
RGRERIRY

(D) O Self aligning roller contact bearing (Correct Alternative)

Y TIRAT IR HUS ST (Correct Alternative)

Question No. 29 / Question ID 41 Marks: 2.00
Which material is used for manufacturing sine bar?
1S IR §9H & o for wefaa &1 I foar S g2
(A) O Invar steel

AR Xid




(B) O Stabilized chromium steel (Correct Alternative)
a (Correct Alternative)
(C) O High speed steel (Chosen Option)
e W (Chosen Option)
(D) O High carbon steel
3=

Question No. 30 / Question ID 57 Marks: 2.00
What is the name of the instrument shown in the figure?
o1 7 feRaTT 7T IUSRT BT AT T 82

A) O Clgmp type height gauge
13U 18 I




(B) O Height gauge with slip gauge holder (Correct Alternative) (Chosen Option)
=9 A gies & 1Y BTS¢ 79T (Correct Alternative) (Chosen Option)
(C) O Depth vernier gauge

(D) O Vernier height gauge
GECAIE]

Question No. 31 / Question ID 127 Marks: 2.00
Which metal powder is used in calorizing process to prevent corrosion?
ST &1 A & [T HARTS ol WishaT H fohd oTd & Urex &1 SUANT fad il 872
(A) O Nickel powder (Chosen Option)

U3 s (Chosen Option)
(B) O Aluminium powder (Correct Alternative)
UT3SX (Correct Alternative)
(C) O Chromium powder
Urds
(D) O Zinc powder
fSie uraex

Question No. 32 / Question ID 199 Marks: 2.00

Which drive transmits motion at a constant velocity without any creep and s“ge’?
DI 1 3184 fo 1 fpdt I SR v & fRR a7 W 71 Tamia @t 82
(A) O Pulley drive (Chosen Option)

EEﬁ gIgd (Chosen Option)
(B) O Chain drive (Correct Alternative)

L SI%d (Correct Alternative)
(C) O Geardrive

SIEE]

(D) O Rope drive

RESIEG

I I

Question No. 33 / Question ID 165 Marks: 2.00
What is the purpose of setting blocks in fixture?
fhaRreR H sl AT T I T 872
(A) O To position the work related to cutter (Correct Alternative)
P I Tafea o1d o fRAfT o v@= (Correct Alternative)
(B) O To position the clamp and locators (Chosen Option)
FAT 3R Aber o fRUfT & T (Chosen Option)
(C) O To position the balancing weight
e YR &I Rufd § g
(D) O To position the fixture on machine table
TR ¢ad R fhaRTer &I Rufd § g

Question No. 34 / Question ID 222 Marks: 2.00
Which law states that if the mass of gas is compressed or expanded at a constant temperature, then the
absolute pressure is inversely proportional to the volume?

&I I1 70 wedl § f afe 19 & gouad & fRR aroae R difsd ar faxaia fear sar g, @t iRA g1
3T & FEHHU Bidl 872
(A) O Pascal's Law

URehdl &1 g




(B) O Boyle's Law (Correct Alternative)
I9d &1 a| (Correct Alternative)
(C) O Archimedes Principle (Chosen Option)
fRrgia (Chosen Option)
(D) O Hook's Law

g &I fuH

Question No. 35/ Question ID 285 Marks: 2.00
Which type of lock washer uses flat or oval type head screw?
Y THR & e GIRR H Tic 1 SSTHR UHR & 58 T BT SUANT {oaT Sffdl 572
(A) O Counter sunk type (Correct Alternative)
B3R P PR (Correct Alternative)
(B) O Internal and external type (Chosen Option)
3fTdR 3R 88 UBHR (Chosen Option)
(C) O Internal type
' JhR
(D) O External type
a8 YR

Question No. 36 / Question ID 17
Which file that has sharp and parallel teeth is used on soft and non-metalli rials?
TR R TR Y1g ARTA TR AT fhT O a1at Ot 3R AR &idl fod A gId g7
(A) O Tinker file (Chosen Option)

WIgd (Chosen Option) =
(B) O Dread naught file (Correct Alternative) I
%3’ le WIsd (Correct Alternative) g
(C) O Warding file
ARV IEN]
(D) O Pillar file
RIEN]

Marks: 2.00

11|

Question No. 37 / Question ID 26 Marks: 2.00
What is the use of rotary files?
RIest WISl BT START R 52
(A) O To sharpening wood-working saws (Chosen Option)
AH o TR HTH H dTalt 3R DI dof B & [oQ (Chosen Option)
(B) O To finish sharp corners
ol DI DI GH B & forg
(C) O Finish the automobile bodies, after tinkering
DSBS & §1G, JCHIER Siel ®f TAT B
(D) O Die sinking and mould-making work (Correct Alternative)

T3 Rifd1 ug i 99 &1 BT (Correct Alternative)

Question No. 38 / Question ID 62 Marks: 2.00
Which term refers to the operation of joining the slip gauges together for building up sizes?
P T e MHR F1 & AT f&T0 1S B T 1Y S+ & ITa o) JefHd Bl g2
(A) O Wringing (Correct Alternative)
fafdiT (Correct Alternative)




(B) O Lapping (Chosen Option)
T (Chosen Option)
(C) O Polishing

(D) O Hor:ning

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 334 Marks: 2.00
What are the various stages of heat treatment?
ST ITAR & fafl=1 ==0r &1 62
(A) O Heating, Cooling and Quenching
(B) O Heating, Soaking and Quenching (Correct Alternative) (Chosen Option)
Eﬂﬁ'ﬂ, T 3R TR (Correct Alternative) (Chosen Option)
(C) O Soaking, Quenchlng and Cooling
G SR Bt

(D) O Quenchlng, Cooling and Heating
FafiT, Bfci 3R gifem

Question No. 2 / Question ID 339
What is the other term of pocket reference in engineering works?
SR Sl § Ufdhe YWY o1 gaRT Xeq 1 872
(A) O Hand book (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Hand tool
T SR
(C) O Good book

Ts 9
(D) O New book

qI®e

Marks: 2.00

Question No. 3 / Question ID 325 Marks: 2.00
Which is used to reduce the friction in machine parts?
AR YT B G801 B HH B & 018 fhadhl ITINT fdaT STl 672
(A) O Lubricants (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(B) O Petrol

EEK
(C) O Kerosene

EEERN]
(D) O Water

Question No. 4 / Question ID 322 Marks: 2.00
What is the direction of frictional force against a motional object?

foreft iR avg & favg avior 9@ & f=m &1 g2
(A) O Inclined to the object (Chosen Option)

a¥q & forg 2=y d (Chosen Option)




(B) O Opposite to the object (Correct Alternative)
a¥q & A (Correct Alternative)

(C) O Perpendicular to the object
I o dHEad

(D) O Parallel to the object
I & JHIMR

Question No. 5/ Question ID 331
Which type of stress?

S I-91 gfaed 22

(A) O Compressive stress
Jriie Uided
(B) ©O Shear stress (Correct Alternative)
P ufdad (Correct Alternative)
(C) O Torsional stress (Chosen Option)
egd ufdea (Chosen Option)
(D) O Tensile stress
GEICKIGEK|

Marks: 2.00

Question No. 6 / Question ID 326

Marks: 2.00




Where the centre of gravity of a circle lies?
T g1 & RcdTb YUl BT B el U 872
(A) O Any where on its diameter
D AN R B o]
(B) O Any where on its circumference (Chosen Option)
9! IR IR ®Is S8l (Chosen Option)
(C) O Atits centre (Correct Alternative)
G-k | (Correct Alternative)
(D) O Any where on its radius

TID! el |R PIs ogl

3) ENGINEERING DRAWING

Question No. 1/ Question ID 357

(A) O full section
qUT SFHIT
(B) O half section (Correct Alternative) (Chosen Option)
SITYT 3JHTT (Correct Alternative) (Chosen Option)
(C) © symmetric section
AT S{URT
(D) O quarter section
aqe U

Objects that are symmetric can be shown effectively using this type of section

U UHR o HFUNT 1 IUTRT HRb JHHd q 37 DI gHTdl 1 9  fezarar o e g

Marks: 2.00

Question No. 2 / Question ID 345
The rivet head for a general purpose shown in the figure below is

e fou e f # feame Tu g v & foe Rae 3s B

(A) O flat
T

(B) O snap
(C) O pan

(D) O counter sunk (Correct Alternative) (Chosen Option)
PI3CY - (Correct Alternative) (Chosen Option)

Marks: 2.00




Question No. 3 / Question ID 349 Marks: 2.00
Which materials pipe is used for drainage pipe line?
Sl UTeuaTs & o fhy wefkae urgy &1 IudiT far ST g2
(A) O Steel pipe
el T U18y
(B) O PVC pipe (Correct Alternative) (Chosen Option)
PVC UISU (Correct Alternative) (Chosen Option)
(C) O G.l. Pipe
G.l. Uy
(D) O Brass Pipe
Yiqd & U1y

Question No. 4 / Question ID 348 Marks: 2.00
Identify the given rivet.

f&g g Rae &I ug=|




(A) O Flat head
TIIC 58

(B) O Counter sunk
PI3ER Ib

(C) O Pan head
T gs

(D) O Snap head (Correct Alternative) (Chosen Option)
g %3’ (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 346 Marks: 2.00
The head for boiler application's shown in the figure given below is

= fow v o 7 fewmt 7w stger ufrbe & s |,




BN 8211087

\__JI;
|
\._,/I;
|
(B) O conical
YDHIHR
(C) O steeple (Correct Alternative)
(Correct Alternative)

(D) O snap (Chosen Option)
(Chosen Option)

EDHO18211087

(A) O pan
e

Question No. 6 / Question ID 362 Marks: 2.00
GMAW stands for
GMAW & forT @eT g

(A) O Gun Metal Arc Welding
Gun Metal Arc Welding

(B) O Germanium Metal Arc Welding
Germanium Metal Arc Welding

(C) © Gas Tungsten Arc Welding
Gas Tungsten Arc Welding

(D) O Gas Metal Arc Welding (Correct Alternative) (Chosen Option)
Gas Metal Arc Welding (Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 467 Marks: 2.00




What type of resources one can find in the Skill India Digital Platform?
fpa gfean f5fSiea wewd & fod yeR & Jared e g&d 82
A) O OnIy eBooks and reading materials
Fad s AR {ET meRaa
(B) O Courses, skill centers, job opportunities, and more (Correct Alternative) (Chosen Option)
P, &pa dex, Ji GITIW 3R dgd P9 (Correct Alternative) (Chosen Option)
(C) O Financial services and government schemes

FRARTd ey 3R Ta-de WY
(D) O Only job listings
HId At fale

Question No. 2 / Question ID 563 Marks: 2.00
While doing some difficult work, if it is not going on well, what we have to do?
PIS DI HTH HRd Y TG I8 3l ¥ g I 8T 8l dl g8 o1 PHRAT GRI?
(A) O Keep trying and look for another way (Correct Alternative) (Chosen Option)
TIRT H3d 35 3R QR I e T ﬂTf%T{ (Correct Alternative) (Chosen Option)
(B) O Get upset and quit trying
TR 8 ST SR T 3T SIS 371 91T - —
(C) O Take a break and give up
dIST s of 3R BR A o1 Afeq

(D) O Ask someone else to do it for you

forelt 3R BT MU e a8 I3 & fow wg anfey

Question No. 3 / Question ID 477
Suggestion for green practices in the office canteen is
CIAR R B I RviEens ko s i A
(A) O Serve green vegetables.
feoral TRIGT
(B) O Delivering food in plastic packaging.
T H HIAT
(C) O Providing lunch to the staff in disposable plates.
T Dl fSTSIad widl 8§ QU ol HIsH IUds Bl
(D) O Using steel plates and cups. (Correct Alternative) (Chosen Option)
Y BT SUIRT BT (Correct Alternative) (Chosen Option)

Marks: 2.00

Global iT

Question No. 4 / Question ID 612 Marks: 2.00
If you face a problem, which of the following entrepreneurial mindset traits would be most helpful?
e MY fHat THT &1 W1 H-d 8, o) Fafifad # § SexvgRea@TmRiiadn) HiEedce &1 o a1 aef
ey 311t T GITTN?
(A) O Waiting until everything is perfect to do something
P DA & [T I I SAIR DA Od qPh Jd $© Hal A 8l oY
(B) O Blaming others for the problem
TR & o gORl &1 gt er
(C) O Taking action to solve the problem (Correct Alternative) (Chosen Option)
JHHT & JHTYT %‘g’ W‘Iﬁ HAT (Correct Alternative) (Chosen Option)

(D) O Ignoring the problem and hoping it goes away
TR B ToR3AETS BT 3R IJWG HAT fob I8 R 8 Sewht

Question No. 5/ Question ID 517 Marks: 2.00




You are a trained electrician. If you want to get job in Delhi, what are the key words you use to search in
job portal?
39 U URRIfea gafaeRiE g1 afe 3y facett & A<t UM ared €, df oife Uicd | @ioH & forg 3y fa
TG Teq| T SUTNT Hd 57
(A) O Electrician job

¢ EIC|
(B) O Electrician training

ofF

(C) O Delhi job
ISSSISIE]
(D) O Electrician jobs in Delhi (Correct Alternative) (Chosen Option)
Sied £l feeett (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 369 Marks: 2.00
The ability to wait and stay calm

THET B 3R 27 Xg DI & gl

(A) O problem solving
Uiserd Hifed

(B) O patience (Correct Alternative) (Chosen Option)
U= (Correct Alternative) (Chosen Option)

(C) O creativity

fopufefadt

(D) O interpersonal skill

Question No. 7 / Question ID 555 g Marks: 2.00
In a team where members have different ideas and there is a disagreement, what should be done?
TP <IH § gl Uew! o faaR S1e-3ielT 51 SR SRIgAfd g1, al a1 foham S anfge?

(A) O Ask someone else to decide

fopeft 3R ¥ Fofa A & forw s =mflRe

(B) O Discuss both ideas and find a way to make everyone agree (Correct Alternative) (Chosen
Option)
2 faRY R ==t &A1 3 9ot &) gHd BIM BT a1 WIS A1RT (Correct
Alternative) (Chosen Option)

(C) O Choose one idea without discussion
for fopeht =l & U faaR g =nfew

(D) O Letthem argue

3¢ 989 IR dIfoTg

Question No. 8 / Question ID 423 Marks: 2.00
Which of the following statements shows good teamwork?

fFofefad # @ &9 91 By 33t H 9% ol giar 82




(A) O Keeping all ideas to yourself
IR f4aR e deb gt Hifia @
(B) O Ceriticizing teammates' efforts
9 & Iyl & TR bl STl BT
(C) O Working together towards a common goal (Correct Alternative) (Chosen Option)
Uh IHI d&d 31 fe=m A ey &9 S (Correct Alternative) (Chosen Option)
(D) O Ignoring others' ideas and opinions

TR & fIARY MR I HT TR HRAT

Question No. 9 / Question ID 518 Marks: 2.00
If you want to apply for jobs through Naukri.com, what you will do?
gl 3T Naukri.com & HTEHH BT & 1T 3G BT d18d g, Al 3T F-T HUI?
(A) O Apply to all the jobs listed
dieg gt Aieial & oy smae &
(B) O Select all the cities where jobs are available
37 Tt X6 BT T Y g NHRAT SuaH §
(C) O Match the skills with the job description (Correct Alternative) ‘%en Option)
faavur & Ty PIre &1 | s (Correct AIternativeﬁsen Option)
(D) O Ignore the job descriptions
W & A &1

Question No. 10 / Question ID 410
What is an example of formal written communication?
BiHd e HRIABH A BT ICTE0N T 87
(A) O Posting on social media platforms
ST Wewhid TR URe Al
(B) O Sending a WhatsApp message
FICHUY TR GG ST
(C) O Writing an email to your manager (Correct Alternative) (Chosen Option)
3 Yeed Bl Udh a‘ﬁ?r fora= (Correct Alternative) (Chosen Option)

(D) O Texting a friend
[ERIAEECIR R

Marks: 2.00

Question No. 11 / Question ID 604 Marks: 2.00
What encourages entrepreneurship on a grand scale?
R Tl 98 T TR I BT Tfed el 82
(A) O New business opportunities (Correct Alternative) (Chosen Option)
?{ﬁﬁﬁﬁ GI'CI'W (Correct Alternative) (Chosen Option)
(B) O Global leader
ESICKRSISH

(C) O Become rich quickly
faH =

(D) O Become famous

Question No. 12 / Question ID 524 Marks: 2.00
How can Instagram, linkedIn, and YouTube help you in finding a job?

S, fiFss 3R gegd 3! AIdd! gad | $Y Heg HR Jod 872




(A) O Asinformed by others
o b 31 AT GIRT ST T §
(B) O lts available in mobile
g HIERd W SUds §
(C) O lts economical
g fewmrdt B
(D) O Connecting you with company, professionals faster (Correct Alternative) (Chosen Option)

3TYH! $q7-ﬁ, MBI | deil ° \'rﬁ'e'; el % (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 550 Marks: 2.00

Which is a good way to handle when some of your team member made a mistake?
SIS SHTAD! T & fordll T A DTS T BT g1 dl 34 YU BT DI AT 3BT aRIbT 67
(A) O Get angry and scold the team

I BY ST 3R ¢IH BT STeT
(B) ©O Blame the person who did the mistake

3 AT BT G AT T et 1 &
(C) O Discuss and find a way to solve it (Correct Alternative) Chose{mlon

|l BT 3R IPT HHTYUTT ge-T (Correct Alternative) Chosemo

.

(D) O Wait for someone else to solve it ]
U A & ATe fondt 3R BT SA0IR H=eAT —
Question No. 14 / Question ID 580 Marks: 2.00
If you come up with an idea to improve the work using design thinking. W st you do next?
e 31y fSHre AT 1 SUANT HRb BHTH B! dgcR G4 HT By (AR g1 STAHT ST FT BT

Bl
(A) O Apply and test if it works (Correct Alternative)
gfe a8 &1 Sl % G| Gl'lf‘l'l'st PIAT 3R X HIAT iIT%T{ (Correct Alternative)
(B) O Write down his idea and keep it safe
30 3MTSST I forg R PR @ A1 =nfeu
(C) O Think of another idea
U SMTSfSAT & aR | AT a1igy

(D) O Tell everyone about it (Chosen Option)
% 9R T U T §dM1 916 (Chosen Option)

Question No. 15/ Question ID 542 Marks: 2.00
is a code of behaviour that is based on respect, values and professionalism.
HAER H1 U BIS & S T, el 3R TG dl R TR |
(A) O Experience

3Hd
(B) O Business

a4y
(C) O Education

e
(D) O Workplace etiquette (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Question No. 16 / Question ID 493 Marks: 2.00
Which wireless technology standard used for exchanging data between fixed and mobile devices over
short distance?




HH U R RR R A f$aey o o7 Sl &1 TEH-UGH B & oY fbd aRRey dob-iidh A Bl
SUANT foaT T 57

(A) O CD/DVD
CD/DVD

(B) O Bluetooth (Correct Alternative) (Chosen Option)
&Y (Correct Alternative) (Chosen Option)

(C) O Pendrive
BEICIES]

(D) O Router
RIHR

Question No. 17 / Question ID 457 Marks: 2.00
How can you become as self-employed?
3T WRITTR HY 57 Ghd 87
(A) O Try your idea on a small scale, join relevant short term course (Correct Alternative)
(Chosen Option)

A faR # B TR R clg W e < wId A wnfire sﬁm (Correct Alternative)
(Chosen Option)

(B) O Thinking about to become as self-employed
W-ATR 1 & IR & g IR -

(C) O Workina _company
HUH! B DHIH PP

-

(D) O Joining MBA course =
&

I

T

MBA $1E & IS gl

Question No. 18 / Question ID 541 q Marks: 2.00
Which is the most important document required by companies to select peop e orJob'?

Sl ot Nt & forg A &1 I99 HRA & forT Jad Tyl Siaghe &
(A) O Sports certificate
Qe JHTUTO
(B) O Conduct certificate
TR JHIOT
(C) O Your resume (Correct Alternative) (Chosen Option)
WW (Correct Alternative) (Chosen Option)
(D) O Your certificate
STURT YHTOTTA

Question No. 19 / Question ID 424 Marks: 2.00
Which of the following is required for teamwork?
&1 9% & fore Fafoied & 3 1 smavas 52
(A) O Proper communication (Correct Alternative)
(Correct Alternative)

(B) O Money
o

©) O Confllct and Argument (Chosen Option)

HT’iﬁ_C' (Chosen Option)

D) O Easy tasks
ST <RSP

Question No. 20 / Question ID 415 Marks: 2.00




What are some advantages of informal communication at the workplace?
THE R FABIHA RIAGI S T TAH 572
(A) O Creates a strict environment at work

TR T JTATaR0T ST §

(B) O Helps people work together better (Correct Alternative) (Chosen Option)

G| TP 1Y e SgaR &7 d T FA | Heg fHadt % (Correct Alternative) (Chosen

Option)

(C) O Makes things more official at work
R W Il DI 3R HAF RGNS T §
(D) O Makes people talk less

| ) ¥ S R T &

Question No. 21 / Question ID 600 Marks: 2.00
Anitha started an Instagram page for her craft business. She used marketing strategy.
3T A 3T RIey HaaE & R T SeMM IS R fBani S8 HIb 1 UM bl ST
foa|
(A) O poster

1.
B) O orlllne marketing (Correct Alternative) -

ST HTH T (Correct Alternative)
(C) O networking (Chosen Option)

h1T (Chosen Option)
(D) O taglines

Question No. 22 / Question ID 459

What does migrating for work mean?

ST & [T ASIT HT R HqAd 872

(A) O Working from home
TR Y HH BT

(B) O Staying in the same place for work
DTH & oY Teb g1 S8 R TG

(C) O Changing jobs within the same city
T g1 TeR § b gaer

(D) O Moving to a different place to find a job (Correct Alternative) (Chosen Option)
CICRIRCIEER:] ﬁl‘Q ot W VYT X ST (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 23 / Question ID 487 Marks: 2.00
Which among the following is not an Online payment application?

fofiad & T &9 91 T TS U TRiiheH 8 872

(A) O BHIM UPI
BHIM UPI

(B) O Instagram (Correct Alternative) (Chosen Option)
FECIH (Correct Alternative) (Chosen Option)
(C) O Google Pay
el Pay
(D) O Banking Applications
ClEall

Question No. 24 / Question ID 443 Marks: 2.00




Which is a regular, non- APP based Gig economy job opportunity?
TS i, IR-APP 3enRd fITT ST Siid BT 3IaTR HI 7 82
(A) O Swiggy

et

(B) O Home catering (Correct Alternative)
(Correct Alternative)
(C) O Dunzo (Chosen Option)
§ﬁ,ﬁ (Chosen Option)
(D) O Uber
Jax

Question No. 25 / Question ID 395 Marks: 2.00

Fill up the blanks with suitable words so as to become a meaningful sentence.
Rainwater harvesting to prevent water scarcity

Rad Tl o Iferd Teal T WX difs T Trefes are 99 I |

Rainwater harvesting to prevent water scarcity

(A) O gave
gave

(B) O gives
gives
(C) O help
help

(D) O helps (Correct Alternative) (Chosen Option)
helps (Correct Alternative) (Chosen Option)




